MODEL QUESTION PAPER 1-SMA NTC- KIDS BASIC LEVEL-PAGE 1

[TimeTaken:)( ] Total Marks : 300

Write Bead values(20Q) and Without Abacus(20Q) - Total 40 Q Time Limit : 3 min 30 sec
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Write bead values Marks: 4x20(4 marks each )

21) 5+1+2= 26) 8-1+1=
5 ||22) 3-2+5= 27) 8+1-9=
Q
fge 23) 4-2+7= 28) 2+1+6=
°
= || 24) 5+3-5= 29) 8-3+2=
£
2 1125) 2+47-6= 30) 9-5+5=
S

Continue without abacus on the next page.......

@ 8O abacus SPEEDMATHS ACADEMY Alvvays be a winner plsss



MOP1-KIDS BASIC LEVEL-PAGE 2

Continuation without abacus...................... (30 to 40 Questions)

31) 1+7-2= 36) 5+4-7=

5

S || 32) 8-3+2= 37) 3+5-3=

<

<

S 33) 3+5-7= 38) 8-3-5=

=

% | 34 9-3+1= 39) 2+7-6=

3

§ 35) 4-2+5= 40) 5+2+2=

With Abacus (20 Q) Time Limit : 2 min 30 sec

I 6242+5-9 = 11 23+6-7+5=
2 1045+3-2 = 12 17+2-8+2=
3 93+1+5-9 = 13 88-6+7-3=

5\

S |4 1742842 = 14 38-5+1-3=

=

<

S5 576+3+5 = 15 22+5-2+1=

o

S —

2 6 24475-27 = 16  24+15-33=

'é 7 19+70-18 = 17  75-25433=
8  27+12+60 = 18 48+5]1-78=
9 64-12-50 = 19 76-65+23=
10 83-11-60 = 20 50+27-61=
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( Time Taken: ) )

Total Marks :

300

Write Bead values(20Q) and Without Abacus(20Q) - Total 40 Q Time Limit : 3 min 30 sec
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Write bead values Marks: 4x20(4 marks each )

21) 1+8-5=
5 ||22) 7-6+3=
]
2
§ 23) 2+5-1=
o
o —_—
Z 24) 6+1-5=
g || 25) 9-8+3=
>

26) 4-3+2 =

27) 6-5-1 =

28) 1+8-6 =

29) 7244 =

30) 7-5-1 =

‘2 ST abacus

Continue without abacus on the next page.......

@
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Continuation without abacus...................... (30 to 40 Questions)

31) 247-2= 36) 5+2-7=

=

Q

§ 32) 5+4-2= 37) 3+5-2=

£

<

S 33) 3+5-7= 38) 8-2-5=

4

% || 34) 9-6+1= 39) 2+7-6=

pr

§ 35) 4-2+5= 40) 5+2+1=

With Abacus (20 Q) Time Limit : 2 min 30 sec

I 10+5+3-2 = 11 27-6+3+5 =
2 T3to-42 = 12 44+5-9+9 =

I et 13 66-1-5+4 =

S

53 J—

p 4 82%6-7+2 = 14 7543-5+] =

=

g _

w |[2 32FT-8+2 = 15 66+2-743 =

o

S _

S |6 e0r22HlT= 16 71-60+23 =

g _

E 7 99-55-33 = 17 86+13-72 =
8 53+25-62 = 18 13+51-52 =
O 782132 = 19 35-25+74 =
107 75-60+33 = 20 47-26+52 =

‘&) 90O abacus
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SPEEDMATHS ACADEMY Anways be a winner pLus#*
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( Time Taken: ) )

Total Marks :

300

Write Bead values(20Q) and Without Abacus(20Q) - Total 40 Q Time Limit : 3 min 30 sec
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Write bead values Marks: 4x20(4 marks each )

21 8-1+2=
5|22 3+1+5=
Q
2
5 (|23 4-1+6=
g
©
=24 6-5+3=
°
=125 9-8+2=
>

26 9-1-5 =
27 4245 =
28  4+5-6 =
29 245-6 =
30 7423 =

‘2 ST abacus

Continue without abacus on the next page.......

@
SPEEDMATHS AGADEMY Aiways be a winn

er plus
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Continuation without abacus...................... (30 to 40 Questions)

31) 3+5-2= 36) 1+1+1=
g
S || 32) 7-6+3= 37) 6-5+3=
=
<
E 33) 65+2= 38) 2-242 =
g
% || 34) 42+5= 39) 7-243 =
&"
£135 9-5-3= 40) 2+5-1=

With Abacus (20 Q) Time Limit : 2 min 30 sec

1)  83+1-2+5 = 11) 19-7+6-3 =
2)  58-5+1-3 = 12) 71+5+2-3 =
3) 88-6+7-3 = 13) 14-3+7-3 =

5

§ 4)  66-1-5+4 = 14) 27-6+3+5 =

£

<

E 5) 28-1-645 = 15) 93+6-5-1 =

o

S 6) 24+15-33 = 16) 11+88-55 =

W

'é 7)  44-13+52 = 17) 53+21-52 =
8) 49-35+55 = 18) 19+70-18 =
9)  76+10+10 = 19) 77420-15 =
10) 98-63+13 = 20) 53+25-62 =

‘&) 90O abacus SPEEDMATHS ACADEMY ‘tvays e winner plsst*



MOP 4-SMA NTC- KIDS BASIC LEVEL-PAGE 1

[TimeTaken:)( ] Total Marks : 300

Write Bead values(20Q) and Without Abacus(20Q) - Total 40 Q Time Limit : 3 min 30 sec
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Write bead values Marks: 4x20(4 marks each )

21 9-5+5= 26 5+2+2=
5|22 4-2+5= 27 143+5=
]

2
§ 23 2+47-6= 28  7+2-3=
©
=124 241+1= 290  4-1+6=
€
B 3 _
= |25 4+5-6= 30 9-1-5=
=

Continue without abacus on the next page.......

@ 8O abacus SPEEDMATHS ACADEMY Alvvays be a winner plsss
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Continuation without abacus...................... (30 to 40 Questions)

31 7-6+3 = 36  3-1+5 =
g
S 32 6+2-3 = 37 5435 =
£
<
Ell33 9942 = 38 2+1+5 =
&
S
E 34 6-5+2 = 39 4-2+6 =
&"
§ 35  4+5-6 = 40 1+8-5 =

With Abacus (20 Q) Time Limit : 2 min 30 sec

1 58-3+4-5 = 11 54+5-7+2 =
2 8444513 = 12 7242-4+5 =

_ 3 85+3-5+1 = 13 90+3+5-2 =

=

Q

2 4 87-5 +6-3 = 14 25-54+8-6 =

g

S5 998542 - 15 1242-246 =

o

S

E 6  24+15-33 = 16 64-12-50 =

i

§ 7 31+11+52 = 17 27+52-63 =
8  53+21-52 = 18 89-24+32 =
9  64-12-50 = 19 11+88-55 =
10 89-24+32 = 20 53425-62 =

@ SMO abacus SPEEDMATHS ACADEMY ‘Atways be a winner pLusr
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[TimeTaken:)( ] Total Marks : 300

Write Bead values(20Q) and Without Abacus(20Q) - Total 40 Q Time Limit : 3 min 30 sec
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Write bead values Marks: 4x20(4 marks each )

21) 54242 = 26) 3+1+5 =
51122 922 = 27) 1486 =
Q
2
223 835 - 28) 6+1-5 =
S
21 24) 3-145 = 29) 5+4-2 =
£
2 1125) 247:4 = 30) 7643 =
=

Continue without abacus on the next page.......

@ 8O abacus SPEEDMATHS ACADEMY Alvvays be a winner plsss
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Continuation without abacus...................... (30 to 40 Questions)

31) 3452 = 36) 2+7-8 =
g
S1(32) 1483 = 37) 2+1+6 =
=4
S
£33 751 = 38) 9-9+2 =
g
%3 2474 = 39) 5+1+2 =
<
5|35 2476 = 40) 3+6-4 =

With Abacus (20 Q) Time Limit : 2 min 30 sec

1) 58-3+4-5 = 11) 33-1+6-7 =
2)  99-8+5+2 = 12) 85+3-6+1 =
- 3) 40+6-1+4 = 13) 50+5+3-7 =
_;é 4)  44+5-9+9 = 14) 33-3+1+43 =
g 5) 19-6+5-1 = 15) 76-6+3+5 =
o
§ 6) 53+25-62 = 16) 76-50+21 =
;‘; 7)  66-11433 = 17) 53+25-62 =
8) 16+21-17 = 18) 10+55+23 =
9)  96-26+14 = 19) 35-25+74 =
10) 60+22+17 = 20) 44-13+52 =

‘B 90O abacus SPEEDMATHS ACADEMY Anwsys b a winner plass



